

LOW GROSS TROPHY RACE - 2025
(6 SCORES REQUIRED TO QUALIFY)

NAME	LOW GROSS SCORE #1	LOW GROSS SCORE #2	LOW GROSS SCORE #3	LOW GROSS SCORE #4	LOW GROSS SCORE #5	LOW GROSS SCORE #6	AVERAGE OF THESE BEST 6 GROSS SCORES
JEFF MCINTYRE	78	74	74	74	71	76	74.5
DAN ELFORD	73	77	73	77	79	74	75.5
DON DOREY	79	81	81	78	79	80	79.7
JOHN EVANS	84	82	86	81	74	80	81.2
JAY BOYD	82	81	80	84	82	83	82
BRAD MCFARLANE	83	88	77	84	84	82	83
HENRY LEE	84	85	86	87	86	85	85.5
TWYLA CAMERON	83	85	87	85	87	86	85.5
BILL TSO	89	86	87	87	85	82	86
ROWAN BIRCH	91	85	84	88	87	90	87.5
DEREK MACPHAIL	89	90	94	89	93	91	91
HELMUT HERMANN	89	91	94	95	92	90	91.8
BOB SYMINGTON	90	98	94	89	96	92	93.2
ROB CAMERON	93	99	96	91	93	94	94.3
DON MACPHAIL	90	98	98	92	99	92	94.8
MARY WEST	96	94	100	95	91	96	95.3
TODD RICHDAL	101	100	97	90	93	94	95.8
KEVIN CLARK	89	87	100	95	98	107	96
AL LUONGO	98	92	96	98	99	96	96.5
KEN BAYNE	96	97	99	94	105	91	97
STEVE ENGE	93	104	104	98	96	96	98.5
DON BRYNILDSEN	102	95	95	98	99	102	98.5
PHIL KARLSSON	91	100	98	99	98	106	98.7
TIM KARLSSON	100	100	97	98	97	101	98.8
MARGARET WATTS	100	99	97	103	95	104	99.7
HECTOR MANSEL	103	105	99	106	106	105	104
CRAIG MACKENZIE	113	112	104	102	104	101	106
GRAHAM WHITEHEAD	105	112	110	107	101	104	106.5

JOHN MARINO	102	111	101	104	111	112	106.8
RANDY SCHWINDT	106	104	108	102	113	112	107.5
GLEN WILLIAMSON	109	111	108	103	107	108	107.7
TED MACDONALD	105	115	104	105	113	106	108
KEVIN MCCARTNEY	114	107	114	111	113	115	112.3
IRENE NOWAK	113	102	117	116	114	117	113.2

LOW NET FLIGHT 1 TROPHY RACE - 2025
 (6 SCORES REQUIRED TO QUALIFY)

NAME	LOW NET SCORE #1	LOW NET SCORE #2	LOW NET SCORE #3	LOW NET SCORE #4	LOW NET SCORE #5	LOW NET SCORE #6	AVERAGE OF THESE BEST 6 NET SCORES
TWYLA CAMERON	60.7	63.1	65.2	63.3	65.5	64	63.6
HENRY LEE	62.5	62.9	65.2	66	65.3	64.4	64.4
BRAD MCFARLANE	64.8	69.4	58.5	66.7	65.5	64.1	64.8
ROWAN BIRCH	68.3	63.2	62.7	67.2	65.8	69	66
DAN ELFORD	63.4	67.2	63.8	67.4	70	65	66.1
JOHN EVANS	69.7	67.2	66.4	60	66.9	71.4	66.9
JEFF MCINTYRE	71.1	66.5	67.2	67.3	64.1	69.7	67.7
JAY BOYD	67.8	66.3	65.2	70	67.7	68.9	67.7
DON DOREY	68.3	70.3	67.5	68.8	69.7	70.6	69.2
BOB SYMINGTON	66.9	73.1	69.7	65.2	72.8	68	69.3
BILL TSO	73.6	69.7	71.7	71.6	69.6	66.9	70.5

LOW NET FLIGHT 2 TROPHY RACE - 2025
 (6 SCORES REQUIRED TO QUALIFY)

NAME	LOW NET SCORE #1	LOW NET SCORE #2	LOW NET SCORE #3	LOW NET SCORE #4	LOW NET SCORE #5	LOW NET SCORE #6	AVERAGE OF THESE BEST 6 NET SCORES
ROB CAMERON	64.6	69.2	66.8	62.1	65.1	65.8	65.6
DEREK MACPHAIL	64.9	65.1	70.5	64.5	69.6	66.4	66.8
HELMUT HERMANN	64.7	65.7	69.5	69.8	67.1	65.5	67.1
DON MACPHAIL	62.8	69.7	70.5	64.5	72	64.5	67.3
TODD RICHDALE	73.1	71.1	68.7	62	65.7	66.4	67.8
TIM KARLSSON	70.5	70.8	68.1	69.7	68.7	72.7	70.1
KEVIN CLARK	62.5	61.9	75.1	69	72.5	81.1	70.4
MARY WEST	72.3	74.9	69	70.3	66.9	71.4	70.8
KEN BAYNE	69.7	71.1	73.1	68	79.6	64.4	71
STEVE ENGE	67.6	76.9	77.1	71.2	69.7	70	72.1
PHIL KARLSSON	66.3	77.7	73.4	74.6	73.6	81.6	74.5

LOW NET FLIGHT 3 TROPHY RACE - 2025
 (6 SCORES REQUIRED TO QUALIFY)

NAME	LOW NET SCORE #1	LOW NET SCORE #2	LOW NET SCORE #3	LOW NET SCORE #4	LOW NET SCORE #5	LOW NET SCORE #6	AVERAGE OF THESE BEST 6 NET SCORES
TED MACDONALD	61.1	69	58.9	63.1	61.1	61.8	62.5
AL LUONGO	64.7	58.8	64.5	65.7	66.4	64.2	64.1
GRAHAM WHITEHEAD	63.5	71.2	68.9	66.2	60.4	62.7	65.5
IRENE NOWAK	71.5	64.6	55.3	69.3	67	70.6	66.4
HECTOR MANSEL	66.8	65.8	62.1	68.8	69	68.2	66.8
MARGARET WATTS	68.8	65.5	66.1	72.3	63.7	72	68.1
RANDY SCHWINDT	67.1	65.5	68.4	63.3	74.8	72.9	68.7
DON BRYNILDSEN	72.1	65.3	64.4	68.8	69.7	72.5	68.8
KEVIN MCCARTNEY	73.7	65.3	74	70.4	72.7	74	71.7
JOHN MARINO	69.5	78.4	67.4	79.5	66.9	78.1	73.3
GLEN WILLIAMSON	75.5	73.7	76.8	68.5	73.3	74	73.6
CRAIG MACKENZIE	82.1	80.3	72.3	71	73.1	69.9	74.8

MOST IMPROVED PLAYER TROPHY RACE - 2025

NAME	CURRENT HANDICAP	HANDICAP AT BEGINNING OF THIS YEAR	RATIO
HENRY LEE	20.4	21.5	0.95
KEN BAYNE	25.2	26.3	0.96
TWYLA CAMERON	21.1	22	0.96
JEFF MCINTYRE	6.7	6.9	0.97
BRAD MCFARLANE	17.6	18.2	0.97
AL LUONGO	32.8	33.3	0.98
JAY BOYD	14	14.2	0.99
TED MACDONALD	43.3	43.9	0.99
ROWAN BIRCH	21.4	21.3	1
JOHN EVANS	14.3	14.3	1
TODD RICHDAL	27.8	27.9	1
CRAIG MACKENZIE	31	30.9	1
IRENE NOWAK	46.6	46.5	1
MARGARET WATTS	31.3	31.2	1
RANDY SCHWINDT	39.3	38.9	1.01
DON BRYNILDSEN	29.8	29.5	1.01
KEVIN CLARK	26.8	26.5	1.01
BILL TSO	14.9	14.7	1.01
GRAHAM WHITEHEAD	41.7	40.7	1.02
GLEN WILLIAMSON	34.2	33.5	1.02
DON DOREY	10.3	10	1.03
HECTOR MANSEL	37.3	36.2	1.03
HELMUT HERMANN	25	24.3	1.03
STEVE ENGE	26.1	25.4	1.03
DEREK MACPHAIL	24.9	24.1	1.03
ROB CAMERON	29.4	28.4	1.04
DON MACPHAIL	28.5	27.2	1.05
MARY WEST	25	23.7	1.05
BOB SYMINGTON	24.4	23.1	1.06
KEVIN MCCARTNEY	41.9	39.6	1.06
DAN ELFORD	10.2	9.6	1.06
JOHN MARINO	34.7	32.5	1.07
PHIL KARLSSON	25.3	23.3	1.09